N
a3 oy
W

MNANXY 1109 AN
4 NN aan 3 Tvg (SETIVNEIS i
1S " g Ty
WO Heo

2
<
Q
S
<




LEAVE INDUSTRIAL

LEAVE INDUSTRIAL

SMOOTH BALL END BOLT KNURLED NUT

A
. I BP)
. ¢C

o Material : |
Bolt : S45C(JIS) / CK45(DIN) /Y
Ball : SUJ2(JIS) / 100Cr6(DIN) d i—

o Heat treated : \ o
Bolt : HRC 28°~32° w Q| - i - BEIA
Ball : HRC 62° \

o Surface finish : Black Oxide. \* m A

o Application : Precision swivel ball that can L

be used either as a contact bolt \ C g BG
or as a rest pad. As contact
bolts,these swivel-ball units are o Material : S45C(JIS) / CK45(DIN)
ideal for evenly distributing o Heat treated : HRC 30°~35° BA
clamping pressure on sloped or o Surface finish : Black Oxide.
uneven surfaces. _ o Application : use where quick hand ap
° Features : Precision ground top surface. ODEL NO ; : . 9 assembly is needed.
PT01-0610 21 10 M6x1.00 6 10 0.012
PT01-0814 25 12 M8x1.25 8 14 0.015
PT01-1017 30 16 M10x1.50 10 17 0.025
°P°9\ PT01-1222 35 22 M12x1.75 12 22 0.070 Ob O ’ D U J SU
PT01-1627 42 26 M16x2.00 14 27 0.140 PT03-0820 20 8 16 6 M 8 0.015
PT01-2036 58 27 M20x2.50 14 36 0.280 PT03-1025 25 10 20 8 M10 0.030
PT01-2436 65 32 M24x2.00 18 36 0.560 PT03-1228 28 12 24 10 M12 0.040
PT01-3046 80 35 M30x2.00 21 46 0.880 PT03-1630 30 12 25 10 M16 0.045 PT

FLANGE NUT

SERRATED BALL END BOLT

A ALY
o Material : DKE
Bolt : S45C(JIS) / CK45(DIN) . m VASE
Ball : SUJ2(JIS) / 100Cr6(DIN) s
o Heat treated :
Bolt : HRC 28°~32° L - —1
Ball : HRC 62° OIHER]
o Surface finish : Black Oxide. D C
o Application : Precision swivel ball that can L C
be used either as a contact bolt o Material : S45C(JIS) / CK45(DIN) A ult
or as a rest pad. As contact o Heat treated : HRC 30°~35° }‘;r"'””
bolts,these swivel-ball units are o Surface finish : Black Oxide. Faeiniel]
ideal for evenly distributing o 5 ’ : 5 - Data!
Ef:/Z:gsL?rrfzz:Te on sloped or ol e i : 2 : PT04-0812 9 17 3 12 M8 | 0.010
° Features : serrated gripper is ideal for rough PT02-0610 21 10 M6x1.00 6 10 0.012 PT04-1017 13 22 3 17 M10 0.020
surfaces. PT02-0814 25 12 M8x1.25 8 14 0.015 PT04-1219 17 28 4 19 M12 0.040
PT02-1017 30 16 M10x1.50 10 17 0.025 PT04-1422 17 28 4 22 M14 0.040
PT02-1222 85 22 M12x1.75 12 22 0.070 PT04-1624 20 32 5 24 M16 0.060
PT02-1627 42 26 M16x2.00 14 27 0.140 PT04-1827 20 35 5 27 M18 0.070
PT02-2036 55 27 M20x2.50 14 36 0.280 PT04-2030 25 40 6 30 M20 0.110
PT02-2436 65 32 M24x2.00 18 36 0.560 PT04-2232 28 45 6 32 M22 0.150
PT02-3046 80 35 M30x2.00 21 46 0.880 PT04-2436 28 47 6 36 M24 0.185

6-1 AUXPARTS AUX PARTS = 6=2



LEAVE INDUSTRIAL

= LEAVE INDUSTRIAL

EXTENSION NUT CLAMPING STUD

o Material : S45C(JIS) / CK45(DIN)
C o Heat treated : HRC 22°~28°
o Surface finish : Black Oxide.

B
N, A
{ + T T A
B
e N B ‘ ‘ B
B A
© - - - BG
o Material : S45C(JIS) / CK45(DIN) OD 0 A B . EP)
. o 0o 4
o Heat trea.te.d - HRC 30 ~.35 ’ PT05-0813 22 14 M 8 0.020
o Surface finish : Black Oxide.
L K PT05-1017 30 17 M10 0.030
o Application : Extends the length of
. PT05-1219 36 19 M12 0.046
clamping studs.
PT05-1422 42 22 M14 0.065 '
PT05-1624 48 24 M16 0.110 = U
PT05-1827 54 27 M18 0.150
PT05-2030 60 30 M20 0.220
PT05-2232 66 2 M2 0350 MODEL NO. A B c kg MODEL NO. A B c kg
PT05-2436 72 36 M24 0.350 PT07-08050 50 2 0.020 PT07-18050 50 22 0.100 PT
PT07-08075 75 0.030 PT07-18075 75 30 0.150
PT07-08100 100 5 0.040 PT07-18100 100 2 0.200
PT07-08125 125 M8 0.050 PT07-18125 125 M18 0.220
PT07-08150 150 P=1.25 0.060 PT07-18150 150 0 P=2.5 0.300
PT07-08175 175 0.070 PT07-18175 175 0.320
P TO 6 PT07-08200 200 50 0.080 PT07-18200 200 65 0.360 SVE
PT07-08250 250 0.098 PT07-18300 300 80 0.600
PT07-10050 50 22 0.030 PT07-20050 50 22 0.125
T- S LOT N U T PT07-10075 75 30 0.042 PT07-20075 75 30 0.170
PT07-10100 100 5 0.055 PT07-20100 100 % 0.230
PT07-10125 125 M10 0.070 PT07-20125 125 0.275
o Material : S45C(JIS) / CK45(DIN) PT07-10150 150 pets | 0090 PT07-20150 150 0 0.360 ALY
o Heat treated : HRC 30°~35° PT07-10175 175 50 0.108 PT07-20175 175 M20 0.437
o Surface finish : Black Oxide. PT07-10200 200 . 0.123 PT07-20200 200 65 P=2.5 0.450
PT07-10250 250 0.154 PT07-20250 250 0.550
PT07-12050 50 22 0.040 PT07-20300 300 80 0.700 :
PT07-12075 75 30 0.060 PT07-20400 400 100 0.880 0) <~
oD o A B . s PT07-12100 100 5 0.080 PT07-20500 500 1.100 VISE
PT07-12125 125 0.100 PT07-22050 50 22 0.150
A PT06-1008 150 | 13.0 10 60 | M8 9y [ 0020 PT07-12150 150 5"12 0.125 PT07-22075 75 30 0.223
PT06-1210 18.0 | 140 12 7.0 | M10 0.022 PT07-12175 175 %0 p=175 0.155 PT07-22100 100 0.300
! PT06-1410 A GG 14 a6 M10 28 0.050 PT07-12200 200 65 0.160 PT07-22125 125 % 0.373
i PT06-1412 ’ M12 0.048 PT07-12300 300 80 0.240 PT07-22150 150 0 0.448 OiH ERS
) M12 0.060 PT07-14050 50 22 0.060 PT07-22175 175 M22 0.522
Elggj Z:j 250 | 160 | 16 80— B oo PT07-14075 75 30 0.090 PT07-22200 200 o P=25 0.597
- T PT07-14100 100 w8 0.120 PT07-22250 250 0.746
w T - 0621810 280 | 200 105 30 | 0.090 PT07-14125 125 M14 0.150 PT07-22300 300 80 0.895 Golumn
PIOEARIZ 18 M12 PT07-14150 150 P=2.0 0.180 PT07-22400 400 1194 707
PT06-1814 wa | e o |LEE | g (008 PT07-14175 175 %0 0210 PT07-22500 500 100 1.492 Technical
| PT06-1816 M16 0.085 PT07-14200 200 65 0.240 PT07-24050 50 22 0177 k)
: L PT06-2016 320 | 19.0 1.9 | M16 30 | 0.098 PT07-16050 50 22 0.078 PT07-24075 75 30 0.266
! E FT06.2018 20 1 2301 2 20 I wis | 38 o110 PT07-16075 75 30 0.120 PT07-24100 100 i 0.355
_ PT07-16100 100 0.145 PT07-24125 125 0.443
c93 PT06-2218 | o654 | 250 | 22 | 140 |18 | 5 | 0178 PT07-16125 125 % 0.180 PT07-24150 150 M24 0.533
) PT06-2220 b20 05150 PT07-16150 150 s 0.230 PT07-24175 175 %0 P=3.0 0.620
\nnii PT06-2418 380 | 250 | 24 | 140 [ IMIB | 5 [ 0184 PT07-16175 175 M16 0.276 PT07-24200 200 o 0.710
TR PT06-2420 M20 0.250 PT07-16200 200 o P=2.0 0.290 PT07-24250 250 0.880
PT06-2620 M20 0.250 PT07-16250 250 0.350 PT07-24300 300 80 1.065
@ : : ‘ : : PT06-2622 Gl | 280 43 iz oo | ** [Tozzo PT07-16300 300 80 0.450 PT07-24400 400 10 1.420
=) I PT06-2822 M22 0330 PT07-16400 400 10 0.580 PT07-24500 500 1775
- _!_ | CT06.0804 440 | 285 28 17.5 o 50 o312 PT07-16500 500 0.700

6-3 AUXPARTS AUX PARTS = 6=4



LEAVE INDUSTRIAL

LEAVE INDUSTRIAL

LOCATING KEY

T-SLOT NUT(GROUND)

C B BP)
B 0
S
— e
A D & S/ R EPA
s CL_1 =
G /
AVAVAVA
el T |
< -4 —+ O | - - H w M8 B1S
o Material : S45C(JIS) / CK45(DIN)
o Heat treated : HRC 30°~35° L e —
o Application : Ground surfaces provide JAVAVAN l Material : SCMA40(JIS) / 34CrMo4(DIN
accurate positioning inside G © Material : (JIS) rMo4(DIN)
of t-slot o Heat treated : HRC 45° (S
' o Application : Multipurpose locating key.
MODEL NO. A B (o3 kg
PT10-1410 14 10.0 0.032 SU
PT10-1815 18 49 15.0 0.033
MODEL NO. D E kg PT10-2009 20 39 95 0.028
PT08-1214 22 22 14 8 M12 0.045 PT10-2010 20 49 10.0 0.033
PT08-1618 28 30 18 10 M16 0.080 PT10-2015 15.0 0.034 PT
PTO9 PT11 SV
ALY
| A DKE
‘ B 5 VISE
o Material : SCM220(JIS) y ‘
o Heat treated : HRC 30°~35°
N . =) _ _ O G
o Surface finish : Black Oxide. ) \vAvav4 \
L . ) 5
o Application : use w!th PT28 to build custom 1 & OTHER
clamping components. ©
o Features : Reamed hole for smooth g B B B
swiveling.
C Colt)
o Material : SCM440(JIS) / 34CrMo4(DIN) .!or’
o Heat treated : HRC 45° E’;”’]"'J
o Application : Threaded end makes
MODEL NO. A B c D E F kg removal easy.
PT09-10075 75 0.060
40 M10
PT09-10100 100 20 12 10 5080 MODEL NO. A B c kg
PT09-12075 75 50 0.095 PT11-0825 8 25 M4 0.010
M12 25 14 12
PT09-12100 100 60 0.120 PT11-1030 10 30 M5 0.015
PT09-16125 125 60 0.250 PT11-1234 12 34 0.030
M16 32 17 16 M6
PT09-16150 150 75 0.300 PT11-1642 16 42 0.060
PT09-20125 125 60 0.400 PT11-2047 20 47 0.100
M20 40 22 20 M8
PT09-20150 150 75 0.485 PT11-2549 25 49 0.160

6-5 AuxPARTS

AUX PARTS = 6-6



PT12A-3028

NW : 70g

PT12B-3020

NW : 50g

PT12C-3028

NW : 60g

©-7 AUXPARTS

JACK SCREW TIP

o Material : SCM440(JIS) / 42CrMo4(DIN)

o Heat treated : HRC 60°
o Surface finish : Black Oxide.

LEAVE INDUSTRIAL ‘ .®
LEA'E

o Application : Multipurpose support tip, use with SU11.

#30
90°
| o]
! o
| —
I
$10%°
#30
o
62;0 e
¢10%
#30
90°
S
| o0}
| ™
|
' o
| —
T
®1096

Su11

suos

PT13 SERRATED END

PT14 FLAT END

PT15 ROUND END

GRIPPER NUT

o Material : S45C(JIS)
o Surface finish : Black Oxide.

o Application : Use for supporting workpiece.

o Features : Serrated

Tooth plate

o Material : SKH9(JIS)S18-1-2-5(DIN)
© Heat treated : HRC 60°

o Surface finish : Black Oxide.

LEAVE INDUSTRIAL ‘ .®
LEA'E

OD O A B D g
PT13-1220 M12 20 22 19 13 0.043
PT13-1625 M16 25 28 24 16 0.080

Tooth plate
o Material : Exteremely hard.
o Surface finish : Black Oxide.

OD O A B D g
PT13-1220-K M12 20 22 19 13 0.043
PT13-1625-K M16 25 28 24 16 0.080

B

#C

PT14-1220

PT14-1625

OD O A B » g
PT15-1220 M12 20 22 19 0.042
PT15-1625 M16 25 28 24 0.063

BPA

PT

ALY

OKE

VASE

DI ERS

Coluy)
fur
JECHNICA]

AUX PARTS

6-8




LEAVE INDUSTRIAL

LEAVE INDUSTRIAL

PT16A ROUND END SWIVEL CLAMPING SCREW

PT16B FLAT END

max MODEL NO. MODEL NO. A B C (KN g BP)

MODELNO. A B C &Ny 9
PT16B-0610 | PT16C-0610 | 10.3 15
PT16A0408 | 8.0 0. PT16B-0615 | PT16C-0615 | 13.0 2.4
PT16A0410 | 100} g | 2 4 0.7 PT16B-0616 | PT16C-0616 | 16.3| M6| 3 9 2.4
PTT6A0412 | 12.0 0.8 PT16B-0620 | PT16C-0620 | 20.3 3.0 L
Eﬂgﬁ:gglg 13:3 1 (1) PT16B.0625 | PT16C-0625 | 23.0 38 BEA
PT16A0512 | 120 13 PT16B-0812 | PT16C-0812 | 11.2 3.2
PT16A0516 | 1601 M5 | 25| 5 17 PT16B-0816 | PT16C-0816 | 16.4 4.1
PT16A0520 | 200 23 PT16B-0820 | PT16C-0820 | 19.2| M8| 4 | 15 5.8
PT16A-0525 | 250 29 PT16B-0825 | PT16C-0825 | 25.4 7.3 BG
PT16A0610 | 10.8 15 PT16B-0830 | PT16C-0830 | 29.2 9.0
16A0615 | 135 >4 PT16B-1014 | PT16C-1014 | 14.0 5.0
E;GA—oms 16:8 Ve | 3 9 2:4 PT16B-1015 | PT16C-1015 | 15.0 6.7
PT16A 0620 | 20.8 30 PT16B-1020 | PT16C-1020 | 20.0 8.7 .
PT16A 0625 | 235 38 PT16B-1025 | PT16C-1025 | 25.0 | M10| 5 | 20 [ 11.2 CP’
PT16A0812 | 12.0 32 PT16B-1030 | PT16C-1030 | 30.0 13.7
’ \ PT16A0816 | 172 21 PT16B-1035 | PT16C-1035 | 35.0 16.2
~ | ' PT16B-1040 | PT16C-1040 | 40.0 18.7
\ / PT16A-0820 | 20.0 | M8 |4 | 15 5.8
N PT16A0825 | 26.2 73 PT16B-1218 | PT16C-1218 | 17.0 10.0 su
PT16A0830 | 30.0 3.0 PT16B-1220 | PT16C-1220 | 22.0 12.5 S
< PT16A1014 | 15.0 5.0 PT16B-1230 | PT16C-1230 | 30.0 | M12| 6 | 30 | 20.0
PT16A1015 | 16.0 6.7 PT16B-1240 | PT16C-1240 | 40.0 30.0
PT16A1020 | 210 8.7 PT16B-1250 | PT16C-1250 | 50.0 40.0
o PT16A1025 | 26.0 IM10|5 | 20 [ 112 PT16B-1625 | PT16C-1625 | 24.0 28.0 PT
=M PT16A-1030 31'0 137 PT16B-1635 | PT16C-1635 | 34.0 40.0
_U__U_ PT16A-1035 36:0 16:2 PT16B-1645 | PT16C-1645 | 44.0 | M16| 8 | 60 [ 450
] PT16A-1040 | 41.0 18.7 PT16C SERRATED END PT16B-1655 | PT16C-1655 } 54.0 55.0
B PT16A 1218 | 182 0.0 PT16B-1665 | PT16C-1665 | 64.0 65.0
PT16A1220 | 23.2 125 PT16B-2030 | PT16C-2030 | 30.0 54.0 SVE
’ PT16A1230 | 312 |M12|6 | 30 [20.0 PT16B-2040 | PT16C-2040 | 40.0 74.0
, \ PT16A1240 | 412 300 PT16B-2050 | PT16C-2050 | 50.0 | M20| 10 | 90 | 94.0
O l PT16A1250 | 512 20.0 PT16B-2060 | PT16C-2060 | 60.0 120.0
) \ PT16A-1625 25' 5 28 0 PT16B-2090 | PT16C-2090 | 90.0 170.0
\ PT16A1635 | 35.6 4o: 0 PT16B-2435 | PT16C-2435 | 35.0 90.0 ALY
BT16A-1645 45:6 miels | 60 250 PT16B-2450 | PT16C-2450 | 50.0 | M24| 12 | 120 [ 130.0
+ Material - PT16A-1655 | 55.6 550 /K-N PT16B-2480 | PT16C-2480 | 80.0 235.0
Bolt : SCM435(JIS) / 34CrMo4(DIN) PT16A-1665 | 65.6 65.0 K J o)1
Ball : SUJ2(JIS)/ 100Cr6(DIN) PT16A-2030 | 32.0 54.0 \_/ VISE
o Heat treated : PT16A-2040 | 42.0 74.0 <, =
Bolt : HRC 28°~32°. PT16A-2050 | 52.0 | M20 |10 | 90 | 94.0 B} _ F”/%
Ball : HRC 62°. PT16A-2060 | 62.0 120.0 : ‘ \1
o Surface finish : Black Oxide. PT16A-2090 | 92.0 170.0 ‘N .
o Application : Ideal for clamping odd shaped PT16A-2435 | 37.0 90.0 \ O ER
work pieces. PT16A-2450 | 52.0 | M24 {12 | 120 | 130.0
o Features : Available with : Flat end,round PT16A-2480 | 82.0 235.0 <
end, serrated end, less chance of Golumn
deforming the work piece due the iR for
rounded tip. T Uadilel
1 Daty
B
’
[
(@]
\
NS

6-9 AUxPARTS Aux PARTS ©6-10



= ®
= LEAVE INDUSTRIAL ‘ .
LEA/E

PT17A ROUND END SWIVEL SHOULDER CLAMPING SCREW

max

MODELNO. A B C D KNy 9
PT17A-0615 | 14.5 5.3
PT17A-0625 | 235|105 | 6 [M 6| 9 7.4
PT17A-0635 | 335 95
PT17A-0820 | 18.7 135
PT17A-0830 | 28.7 20.0
PT17a0840 | 87| | |8 (M 8| 15 240
PT17A-0850 | 50.7 30.0
PT17A-1025 | 25.0 26.0
PT17A-1040 | 40.0|16 | 8 {10 |[M10| 20 | 34.0
PT17A-1060 | 60.0 46.0
PT17A-1230 | 31.2 40.0
PT17A-1245 | 46.2 50.0
E PT17A1265 | e6.2| 0| 0| 12| M12] 30 =00
PT17A-1280 | 81.2 83.0
S PT17A-1640 | 40.6 90.0
‘ PT17A-1650 | 50.6 110.0
< PT17A1665 | 656 > | *| 16| M18] €0 500
PT17A-1690 | 90.6 170.0
PT17A-20050| 52.0 185.1
PT17A-20080| 82.0 |30 | 17|20 | M20| 90 | 256.4
1 PT17A-20100[102.0 301.2
SN PT17A-24060| 62.0 324.8
= i PT17A-24090 92.0 | 36 | 19|24 | M24 | 120 | 283.5
B S PT17A-24120[122.0 351.0

o Material :
Bolt : SCM435(JIS) / 34CrMo4(DIN)
Ball : SUJ2(JIS) / 100Cr6(DIN)
© Heat treated :
Bolt : HRC 28°~32°
Ball : HRC 62°

@ Surface finish : Black Oxide.

@ Application : Support or clamp the work

piece.

o Features : Available with : Flat end,round
end, serrated end, less chance
of deforming the work piece due
the rounded tip.

6-11 AuxPARTS

PT17B FLAT END

PT17C SERRATED END

E A’Loo
ank
l\kii#li

|
<
o) f:{j:{:?
[ [

MODELNO. A B C D E &Ny 9
PT17B-0615 | 14 5.3
PT17B-0625 | 23 (10| 5|6 [M 6| 9 7.4
PT17B-0635 | 33 9.5
PT17B-0820 | 18 13.5
PT17B-0830 | 28 20.0
PT17B-0840 | 38 13161 8M8] 15 24.0
PT17B-0850 | 50 30.0
PT17B-1025 | 24 26.0
PT17B-1040 | 39 (16| 8 |10[M10| 20 | 34.0
PT17B-1060 | 59 46.0
PT17B-1230 | 30 40.0
PT17B-1245 | 45 50.0
PT17B-1265 | 65 181101 12]M12) 30 70.0
PT17B-1280 | 80 83.0
PT17B-1640 | 39 90.0
PT17B-1650 | 49 110.0
PT17B-1665 | 64 24| 14116 M16| 60 130.0
PT17B-1690 | 89 170.0
PT17B-20050| 50 185.1
PT17B-20080| 80 [ 30| 17|20 M20| 90 | 256.4
PT17B-20100| 100 301.2
PT17B-24060| 60 324.8
PT17B-24090| 90 [ 36| 19|24 [ M24 | 120 | 283.5
PT17B-24120(120 351.0

max

MODELNO. A B C D E Ny 9

PT17C-0615 | 14 5.3
PT17C-0625 | 23 [10| 5| 6 |[M 6| 9 7.4
PT17C-0635 | 33 9.5
PT17C-0820 | 18 13.5
PT17C-0830 | 28 20.0
PT17C-0840 | 38 1368 M8 15 24.0
PT17C-0850 | 50 30.0
PT17C-1025 | 24 26.0
PT17C-1040 | 39 |16 | 8 |10 |M10| 20 | 34.0
PT17C-1060 | 59 46.0
PT17C-1230 | 30 40.0
PT17C-1245 | 45 50.0
PT17C-1265 | 65 181101 12] M12) 30 70.0
PT17C-1280 | 80 83.0
PT17C-1640 | 39 90.0
PT17C-1650 | 49 110.0
PT17C-1665 | 64 24|41 16/ M16| 60 130.0
PT17C-1690 | 89 170.0
PT17C-20050( 50 185. 1
PT17C-20080( 80 | 30|17 [20| M20| 90 | 256.4
PT17C-20100(100 301.2
PT17C-24060| 60 324.8
PT17C-24090| 90 | 36| 19| 24 | M24 | 120 | 283.5
PT17C-24120( 120 351.0

B EA

PT

ALY

DI ERS

Coluig)
fur
JECHNICA]
Ddta)

AUX PARTS ©-12




— LEAVE INDUSTRIAL LEAVE INDUSTRIAL
A
= 9B E 52
| = =) DA |
o Material : SCM435(JIS) / 34CrMo4(DIN) . | -
° Heat treated : HRC 32°~38° S| vl . - e )
o Serrated surface to be heat treated with s Ll B
high frequency quenching. 15 J
o Surface finish : Black Oxide. — =
o Application : Multipurpose work supportand o / Ol B + B
clamping unit, ideal for rough o Material : SKH9(JIS)/S18-1-2-5(DIN) e
parts. MODELNO. A B C D E _ F W Tooth plate © Heat treated : HRC 60° B
o Features : Excellent holding power from the :Zggjggg §§ 6.5|M10| 5|4 | 23 8: 8;3 o Material : SKH9(JIS) o SUI’f?CeIfInIS'h : Bl.ack Oxide.
serrated face. PTI61225 [ 25 | o | 1 | & o, |00z $18-1-2-5(DIN) o Application : Multlpurpo.se wo.rk §upport T
PT18-1250 | 50 | — ' 0.045| o Heat treated : HRC 60° and clamping unit, ideal for
PT18-1625 | 25 0.038 rough parts. ’
PT18 PTis-1650 | 50 | 0 |M1¢| 8| © 30 o ors onep (P
PT18-2025 | 25 0.058
M‘QL PT18-2050 | 50 | o0 |M20| 10| 8 30 o420
[
MODELNO. A B C D E F kg Tooth plate
PT18-1025-K | 25 0.015 ° ial =
P18 1050 K [ 50| ©5|M10| 5 231 Material : exteremely hard o 5 \ . . ] 51U
PT18-1225-K | 25 0.022
PT18-1250K | 50 8.0 (M12| 6|5 23 5 ok PT20-1010 10 10 M5 23 0.008
PT18-1625-K | 25 0.038 PT20-1210 12 0.010
1.5 |M16 | 8|6 | 3.0
e o.078 PT20-2010 20 10 M6 30 | 0.030
PT18-2050K | 50 | > | M ["*[®]% %5120 PT20-2510 25 0.043 PT
SV
C B _ A C ALY
o ! i
Sy A 45 _ | °
|
o : N i DK
A=Y LL7 - - L ————————4 !
< ‘ VISE
: . L T |
> Material : SCM435(JIS) / 34CrMo4(DIN) ) ° Material : S45C(JIS)/CKAS(DIN) s w | 1
o Heat treated : HRC 32°~38° ° Heat treated : 'HRC 33 5 —
o Serrated surface to be heat treated with ® Surface _f'n's.h + Black Oxide. .
high frequency quenching. Tooth plate ¢ Application : Multipurpose work support DIHERS
o Surface finish : Black Oxide PT19-061025] | 6.0[10] 7.9 [ M6 |23 | 0.008 ) and clamping unit, ideal for B
SR : PT19-081325 73[13] 95 [ M8|3.0 0015 o Material : SKH9(JIS) rough parts.
o Application : Multipurpose work support PT19-101725[25 [ o [ - [ 157 [ w10 | 3.0 [2:030 S18-1-2-5(DIN)
i it i PT19-101740[40| ° : ~ [0.035
and clamping unit, ideal for STio-131595 |25 Tose o Heat treated : HRC 60° Goltmn|
rough parts. PT19-121940 40| 02| 19| 199 |M12| 3.0 Fo5as oy
° Features : Excellent holding power from PT19-162435[35| . 1. 1101 w16 | 30 0.085 10 1 10 34 5 23 1 0 - Tooth Plf’alte gEchmcall
the serrated face. ';I':g';gigig :)g ) ) ) g:l]gg PT21‘\ PT211212 |12 d - 9‘6 0.008 o Material : SKHQ(JIS) Data)
- : 120 | 4.0 | M6 | 3.0 - - -1-2-
PT19203060 (60| 145 | 30 | 254 [M20 | 3.0 o j\/\ PT21-1612 |16 13.0 [ 0.016 Heat treat(-;-Sd1'8I-11I§Csé(3l(3)!’N)
PT21-2012 . . @ ’
PT19 M\V\A MODELNO. A B C D E F kg 20 12.0| 4.0 | M6 | 3.0 163 | 0.025
NI PT19-061025-K 60 | 10 | 79 | M6 | 230008 | 10oth plate PT21-2512 |25 19.5] 0.040
‘ PT19-081325K | 2> [ 7.3 | 13 | 95 | M8 |30]0015| © Material : exteremely hard ‘ —
PT19-101725K | 25 0.030
[ ! ] PT19-101740K | 40 84 | 17 | 127 | M10| 3.0 0.035 I i 1 MODEL NO. A =] (o3 D E F kg Tooth plate
‘ PT19-121926K | 25 | o o | 1o | 159 |12 3.0 L0035 ‘ PT21-1010-K | 10 | 10.0 | 3.4 | M5 |23 | 8.1/0.005 o Material : exteremely hard
PT19-121940K | 40 0.050 PT21-1212-K | 12 9.6(0.008
‘ PT19-162435K | 35 | 150 | 24 | 19.1 | mi16| 3.0 |- 2985 | PT21-1612-K 120 140 | M6 | 3.0 = 0ry
| e 20— : 0100 PT212012.K ;g 12@ g.g;g
‘ PT19-203040K | 40 0.160 S e
PT19-203060.K | 60 | > | 30 | 254 |[M20] 30 108 PT212512K | 25 | 20 | #0 | M8 |30 [io5T0.040

6-13 AUxXPARTS AUX PARTS 6=-14



LEAVE INDUSTRIAL

LEAVE INDUSTRIAL

PT22

SPACER

SWING "C" WASHER

DA B , B
G [
1
- | l L
S ‘ ( | BPA
% | < R L
3 ; \
: ' | | G
G 9B by — .
53¢
o Material : S45C(JIS)/CK45(DIN) © Material : 4140(JIS)/CK45(DIN) . | L u
o Heat treated : HRC 40° o Heat treated : HRC 40° ||
o Application : Use with jig components for ° SU'féce .finiSh : Black Oxide. . I D F cp
Increasing height or extending MODEL NO. A B c kg o Application : CfVl/:Sher tf;at S\INmQSI» Ol:jt' | —
length. of the way for clean loading.
PT22-1303 3 0.030 Can be reversed to swing into
PT22-1305 40 13 5 0.045 position either clockwise or
PT22-1310 10 0.100 counter-clockwise. =1
PT22-1330 30 0.300 =) J
PT22-1703 3 0.035 Ob O A 0 D 2
PT22-1705 0 - 5 0.070 PT24-0632 11.0 32 24 16 8 6 M6 8 15 |0.050
PT22-1710 10 0.350 PT24-0840 13.5 40 27 20 10 8 M8 10 20 |0.090
PT22-1730 30 0.950 PT24-0850 18.0 50 33 20 10 8 M8 10 20 [0.130 PT
SV
1Palll
C" WASHER
ALY
R
c / D
:
; DK
m \ VASE:
58K I XXX
|
%% %% % %% T %0%% %% % %%
o \
- B s ¢C OTHER:
o Material : S45C(JIS)/CK45(DIN) PA
o Heat treated : HRC 40° <
o Surface finish : Black Oxide. dolin
Application : Use where quick assembly Is 3 o Material : S45C(JIS)/CK45(DIN) for
important. o Heat treated : HRC 38° i ;—s;mﬂm]
o Features : Washer that slides in and out Of o Surface finish : Black Oxide. MODEL NO. A B C D R kg Dald]
position for clean loading. ° Application : Two-piece washer that PT25-0819 19 6.2 10 9 30 0.013
compensates whenever a stud Tpro59022 | 22 8.0 12 T 0.019
MODEL NO. A B c kg and clamping S”_rface are not PT25-1226 26 75 15 13 32 0.024
PT23-0835 9 35 . 0.065 exactly perpendicular. PT25-1428 28 o0 16 15 0.033
PT23-1040 1" 40 0.065 PT25-1632 32 ' 19 17 40 0.058
PT23-1255 13 55] 10 0.150 PT25-1835 35 10.0 20 19 0.050
PT23-1665 17 65 0.200 PT25-2040 40 11.8 23 21 48 0.089
PT23-2080 21 80 10 0.300 PT25-2245 45 12.5 26 24 20 0.110
PT23-2490 25 90 12 0.470 PT25-2450 50 13.5 28 27 0.150

6-15 AUxPARTS AUX PARTS ©6-16



LEAVE INDUSTRIAL

LEAVE INDUSTRIAL

LOCATING KEY SWIVEL JOINT SUPPORT

A B
B C
C |—K Clamping BP;
- - E %Lﬂ 7‘ ring
—~ l
G I & @‘ -
| v QS
] e} T B EA
© I -~
| S B N | N o Material : S45C(JIS)/CK45(DIN) ’7@*
| | oy o Heat treated : HRC 32°~38°
JI_ - ~ o Surface finish : Black Oxide. oH
T VAVAVAN _l_, o Application : Use with PT09 to build up a BG:
G 1 swiveling jig. o 1 M
o Material : S45C(JIS)/C105W1(DIN) [ 1
o Heat treated : HRC 50° D Cap_SCreW Hole - - \
o Application : Locate & align jig components OUO-J ?8 - = ] -
T-slot, ground surface provide (o)
accurate placement. [ ‘
= -
MODEL NO.
PT26-1812 12 0.035 oD O. A = D g SU
PT26-1814 14 PT28-1025 28 25 18 70| 24 28 12 10 | M10 | 10 |0.055
PT26-1816 16 12 25 M6 55 PT28-1230 34 30 21 75| 25 30 14 12 | M12 | 12 |0.105
PT26-1820 20 0.040 PT28-1640 | 42 | 40 | 26 | 90| 34 | 40 | 17 | 16 | M16| 16 |0.210
PT26-1822 22 PT28-2050 | 52 50 32 | 11.0 | 42 50 22 20 | M20 | 20 |0.300 PT

SWIVEL PAD

LOCATING KEY

ALY

o),
#C E F VASE

T L ﬁ o Material : S45C(JIS)/CK45(DIN)
%: | | | o Heat treated : HRC 32°~38°
o Material : S45C(JIS)/C105W1(DIN) | | o Surface finish : Black Oxide. VR N OIHER!
o Heat treated : HRC 45°~50° j . o Application : Use for supporting uneven 1 R -
J— — surfaces. \ [N
@ B )

© Application : Locate & align jig components +- { } -+ <

90
|
P —

T-slot, ground surface provide R ——— |
accurate placement. \ A Solti)
P D Cap-Screw Hole N : T for
C D : Tasiiieal
L ﬁ Datad)
PTO7 \ |
MODEL NO. A B c D E kg N
Ll
PT27-1008 10 6 2 M4 35 0.015 / /’
PT27-1208 12 M5 25 0.019 B
PT27-1410 14 / /
0.020 i ’ B
PT27-1610 16 A, o PT29 oL & : 2 g
PT27-1810 18 10 22 M6 35 0.095 A %/ PT29-1219 M12 19 35 24 11 7 | 0.080
PT27-2010 20 ’ = PT29-1624 M16 24 40 29 13 8 | 0.150
PT27-2210 22 0.030 PT29-2029 M20 29 50 40 18 10 | 0.300

6-17 AUXPARTS AUX PARTS ©6-18



LEAVE INDUSTRIAL

— LEAVE INDUSTRIAL

LIFTING EYEBOLT SHOULDER DOWEL PIN

| A L C
|
¢ Avavav4 T
@ B : :
4 Ll
CJFD BN
E ] <S( 1 - " EB g @
/ o)
BS

Load

MODELNO. A B c D E kg kg P
H . -
PT30-08 | 326| 333| 63| 15 | M8 | 80 |0.032 ° Material : SC.M435(J'32/34C’M°4(D'N)
PT30-10 | 410| 415| 80 | 18 | M10 | 150 | 0.063 ° Xealt. tre.ated, MH:—\’.? % Positioni
PT30-12 | 500 51.0| 100 | 22 | M12 | 220 | 0.125 ¢ Application = Multifuction Positioning.
PT30-16 | 60.0| 60.0| 125 | 27 | m16 | 450 | 0.216 MODEL NO. A B c D kg
PT30-20 | 72.0| 71.0| 160 | 30 | M20 | 630 | 0.400 PT32-081225 8 13 12 12 0.012 SU
PT3024 | 90.0| 90.0| 200 | 38 | M24 | 950 | 0.830 PT32-121632 | 12 18 14 16 0.032
PT30-30 | 110.0 | 110.0 | 25.0 | 45 | M30 | 1500 | 1.500 PT32-142037 | 14 22 15 20 0.052
PT30-36 | 133.0 | 1315 | 315 | 55 | M36 | 2300 | 2.900 PT32-162239 | 16 22 17 22 0.072
PT30-42 | 151.0 | 150.5 | 355 | 65 | M42 | 3400 | 4.400 PT32-182542 | 18 25 17 25 0.098 PT
PT31 s
ALY
F
B we OKE

e D 5 5 ! JISE
G , \j\;}_\

A

L1
k]
i

\ g6 \E GoIUmn|
oA D for,
— OA {EChMCdl}
o Material : S45C(JIS)/CK45(DIN) Data)

o Heat treated : HRC 32°~38°
o Surface finish : Black Oxide.
o Application : Used where quick hand

© Material : SCM435(JIS)/34CrMo4(DIN)
o Heat treated : HRC 32°~38°

MODELNO. A B C D E F G kg

rec W _ PT31-1245 45 23 57 0.053
@ Application : Position & fasten this PT31-1255 55 33 67 0.060 assembly is needed.
12 18 M12 10

accurately ground bolt. PT31-1265 65 43 77 0.070 MODELNO. A B C D E F G H 1| kg
PT31-1275 75 53 87 0.078
PT31-1655 55 28 72 0.120 PT33-0830 | 30 | 17 | 20 | 24 | 11 7 | M4 | 3 | M8|0.05
PT31-1665 65 20 82 0140 PT33-1035 | 35 | 20 | 28 | 30 | 13 | 8 | M4 | 4 | M10 | 0.09
p1311675 1 ' 75 124 50 IM"® 021 ™ 0150 PT33-1240 | 40 | 24 | 32 [ 34 | 15 [ 10 | M5 | 4 [Mm12]0.12
PT31-1688 88 68 105 0.165 PT33-1645 | 45 | 30 | 35 | 38 | 18 | 12 | M6 | 5 |M160.18

6-19 AuxPARTS AUX PARTS 6=20



LEAVE INDUSTRIAL

LEAVE INDUSTRIAL

PROTECTION PLUG

S45C(JIS) / CK45(DIN) oA
/ I\\
L1 A B
/
N B
5 \~_.|:.-—’ 7 — — JP ‘\
| ; T —.
m i =
&) ‘ ' : B
i
D
OD O A B D O
0"
PT34-10 11 19 10 M10 0.015 o Material : -
PT34-12 14 22 11 M12 0.018 Body : S45C(JIS) oD O A B g
PT34-16 18 25 13 M16 0.035 Ball : SUJ2(JIS) PT35-0814 36 25 7 14 M8x1.25 | 0.025
oA ° Heat treated : PT35-1017 45 | 30 8 17 | M10x1.50 | 0.055
PBT Body : HRC 253 ~32 PT35-1217 50 | 35 10 17 | M12x1.75 | 0.055 SU
; Ball : HR_C_62' _ PT35-1624 60 | 40 | 12 | 24 | M16x2.00 | 0.140
o] ° Surface finish : Black Oxide. PT35-2036 87 | 60 | 14 | 36 | M20x2.50 | 0.330
PT35-2436 98 | 66 18 36 | M24x2.00 | 0.660
PT35-3046 110 | 75 21 46 | M30x2.00 | 1.100 PT
1
o | SV
O 1
| SWIVELING JACK SCREW
f
D ALY
OD O A B D g A
PT34-12-PBT 14 22 14 M12 4 0.005 E 0 B
PT34-16-PBT 18 25 11 M16 5 0.010 /%\ ORS
VASE
AL LA _ /\ ()
Ii - - LSJ — 1 - e = w
!I .\ : DNHER
. \/ (:)
Soltiuin
& L ) fur
[ . ’ Tadilel
\/v © Material : Ddtd)
\_/ f @ Body : S45C(JIS)
| — o Ball : SUJ2(JIS) oD o A B 9
— ° Heat treated : PT36-0814 36 | 25 7 | 14 | Mm8x1.25 | 0.025
. Body : HRC 28°~32° - X :
Ball : HRC 62° PT36-1017 45 | 30 8 | 17 | M10x1.50 | 0.055
N AL o Surface finish : Black Oxide. PT36-1217 50 | 35 10 | 17 | M12x1.75 | 0.055
o Material : S45C(JIS) / CK45(DIN) / PBT/AL PT36-1624 60 40 12 | 24 | M16x2.00 | 0.140
o Application : Protect unused MTP holes from oD o A B D ; PT36-2036 87 60 14 36 | M20x2.50 | 0.330
Chips & dirt. PT3412-AL 12 25 10 M12 0.007 PT36-2436 98 | 66 18 | 36 | M24x2.00 | 0.660
PT32-16:AL 15 30 n M16 0015 PT36-3046 10 | 75 21 | 46 | M30x2.00 | 1.100

6-21 AUXPARTS AUX PARTS ©-22



LEAVE INDUSTRIAL

—— : LEAVE INDUSTRIAL

SWIVEL REST TIP CLAMP REST

B
A
PA Ex0.1 D /_
= (]
90 ) ; m S
‘ _ = I\ e S T T
) = —
\ | ]
ol | m
< -~ - S) B
| F D| E G 56
o Material : r ) o Material : S45C(JIS)
Body : S45C(JIS) L — o Heat treated : HRC 35° B
Ball : SUJ2(JIS) @ Surface Finish : Black Oxide.

o Heat treated : | S P)
Body : HRC 28°~32° -
Ball : HRC 62°

o Surface finish : Black Oxide.

CPO7 CPO7
PT39 SU
OD O A B D g
ODEL NO A B D : 208 PT390-1219 | M12 | 75 | 95| 6 9 | 19 | 60 | 0.0
PT37-1116 25 1 10 10 14.3 0.03 PT39-1624 | M16 80 | 11.0 7 10 24 63 | 0.17
PT37-1118 30 1 12 10 18.0 0.04 PT39-2030 | M20 | 100 | 12.0 8 12 30 80 | 0.35 PT

ROTARY T-SLOT NUT

«———%———7 ALY
1
- 0) [
VISE
< 2,
v OIHER:
o Material : S45C(JIS)

o Surface Finish : Black Oxide. JECHNICA]

1
[
(50
o Heat treated : HRC 30°~35° (&) ‘ 7' ;;:uuw
|
T

PT38-1210 117 | 175 | 55 | 127 | 115 | m10 | 0.010
PT38-1412 138 | 222 87 | 158 | 135 | m12 | 0.023
A o PT38-1614 158 | 254 87 | 158 | 155 | M14 | 0.030

f ) \\ PT38-1816 17.8 28.5 1.1 19.0 17.5 M16 | 0.030
\ \ PT38-2018 19.7 31.7 1.9 19.0 19.5 M18 | 0.044
5 : k PT38-2220 21.7 36.0 13.8 254 21.5 M20 | 0.062

PT38-2420 23.5 38.2 14.0 254 235 M20 | 0.092
PT38-2824 26.9 413 17.5 28.5 27.5 M24 | 0.162

6-23 AUxPARTS AUX PARTS 6=24



LEAVE INDUSTRIAL

—— : LEAVE INDUSTRIAL

PT40

T-SLOT BOLT

B
PT41 E B
s ~ | \ /
___/7Jr<\___ al ‘ ]
A Y T N S i : | «
S ! Ii - @ BPA

‘ od
c | . PT25
[N
G < BC
N A (@] ;
N\ | R

SWIVEL FLANGE NUTS

AL

I

W

[

|

=
J%
N
|
|

m
S
° Material : S45C(JIS) MODELNO. A B € D d E F H K R kg Chy
o Heat treated : HRC 32°~35°
) Surface finish : Black Oxide. PT41-0813 [ 120 [ 19 [ ©| 13 | 10 | ™8| 78] 7 [150] = [0.021
H ¢ PT41-1017 | 13.0 | 22 17 | 12 [mio| 84| 8 [ 165 0.032
PT41-1219 | 143 | 26 | 40 | 19 | 15 | mM12 | 90| 10 | 190 | 32 [0.046
PT41-1422 | 175 | 28 22 | 16 [ w4114l 1220 0.066 U
PT41-1624 | 200 | 32 | 45 | 24 | 19 | M16 | 12.8 238 | 40 [0.103 -
) ) PT41-1827 | 206 | 35 27 | 20 [ m18 | 136 | 12 | 255 0.106
° Material : S45C(JIS)steel forging PT412030 | 25.0 | 40 30 | 23 | M20 | 166 | 14 | 310 | 48 |0.183
o Heat treated : HRC 32°~38° PT41-2232 | 254 | 45 | 6.0 | 32 26 | M22 | 16.9 315 e 0.210
o Surface finish : Black Oxide. OPERNO : i ° ° PT41-2436 | 28.0 | 50 3% | 26 |M2a | 187 | ° [335 0.270 PT
PT40-12050 50 0.054
PT40-12075 75 0.057
PT40-12100 100 0.110
PT40-12125 M12 12 26 22 7 6 13 125 0.125
PT40-12150 150 0.140
PT40-12175 175 | 0.170 SV
PT40-12200 200 0.185
PT40-16050 50 0.130
PT40-16075 75 0.160 T-SLOT N UT-BLAN K
PT40-16100 100 0.200
PT40-16125 M16 16 32 27 8 8 16 125 0.230 ;‘-\I_.\./
PT40-16150 150 0.270
PT40-16175 175 | 0.305 I—
PT40-16200 200 0.325
PT40-18075 75 0.270
PT40-18100 100 0.320 gs OJ’{"
PT40-18125 M18 18 40 30 1 I 29 125 0.340 < U \—/_[5_:.
PT40-18150 150 0.385
PT40-18175 175 0.445
PT40-18200 200 0.490 ‘
PT40-20075 75 0.290
PT40-20100 100 | 0.350 D OIHER!
PT40-20125 125 0.400
PT40-20150 150 0.455 E B
PT40-20175 R120 20 & S0 il f 22 175 0.505
PT40-20200 200 | 0560 Golmn|
PT40-20250 250 | 0.660 for
PT40-20315 315 | 1.000 MODEL NO. A B c D E kg g;;r;luﬂml
:Esjggg 122 ggfg o Material : S45C(JIS) _ PT42-1022 15.8 10 47 0.026
PT4022150 | M22 | 22 | 40 | 38 | 14 | 13 | 27 | 150 | 05580 ° Surface finish : Black Oxide. PT42-1222 175 127 12 5.5 22 0.032
PT40-22175 175 | 0.635 PT42-1428 222 14 8.7 0.064
PT40-22200 200 | 0.700 PT42-1628 25.4 158 16 8.7 2 0.073
halA0:24100 LCOR {0650 PT42-1830 | 285 18 1.1 0.112
PT40-24125 125 | 0690 PT42-2030 31.7 190 20 11.9 30 0.128
PT40-24150 M24 24 50 44 16 15 31 150 0.775
PT4024175 175 10855 PT42-2238 36.0 250 22 13.8 s 0.223
PT40-24200 200 | 0.925 PT42-2438 38.2 24 14.0 0.239
PT42-2644 413 25.0 26 15.8 44 0.309
PT42-2850 44.0 28.5 28 175 50 0.403

6-25 AuUx PARTS AUX PARTS 6-26



LEAVE INDUSTRIAL

LEAVE INDUSTRIAL

THREADED INSERT

| A
Iy | e B /
B l || BE
| | | | L + s — —
I | | l \
| ¥ |
| | | BPA
| | A
|| | ) C B+0.1 D
l
A BC
B MODELNO. A B c D E F kg
PT45-061 1 .
S0610 | e %) 4o | 41 | 115 | & [2008
o Material : S45C(JIS) PT45-0620 20 0.013
© Heat treated : HRC 32°~35° PT45-0815 | v e 2| 44 | 13 | 161 | 10 2018 P)
o Surface finish : Black Oxide. Qiablde i : ; ° Material - S45C(JIS) PT45-0830 30 0.033
PT43-0612-10 | M6x1.00 | M12x1.5 | 10 | 0.005 o Surface finish : Black Oxide. PT45-1020 1o 20 7 | 16 | 106 | 13 004
PT43-0814-12 M8x1.25 | M14x1.5 | 12 0.008 o ngh frequency quenchlng. PT45-1040 40 : 0.080
PT43-1016-15 | M10x1.50 | M16x1.5 | 15 | 0.010 PT45-1225 25 0.070
M12 19 20 | 219 | 15 S
PT43-1218-16 | M12x1.75 | M18x2.0 | 16 | 0.015 PT45-1250 50 0.126 S,
PT43-1420-18 | M14x2.00 | M20x2.0 | 18 | 0.300 PT45-1630 30 0.130
M16 24 25 | 277 | 20
PT43-1622-14 | M16x2.00 | M22x2.0 | 14 | 0.020 PT45-1660 60 0.230
PT43-1622-20 | M16x2.00 | M22x2.0 | 20 | 0.025 PT45-2030 120 30 | oo | 25 | aae | 28 [0:200
PT43-2028-25 | M20x2.50 | M28x2.0 | 25 | 0.050 PT45-2060 60 0.360 PT
SV
o Material : SUJ2(JIS) B D ALY
o Heat treated : HRC 60° ‘
o y
L 8 - —|+— -1 < 0),&=
VASE
O
A +0.025
+0.015 DTHER!
MODELNO. A B C R1 R2 R3 L1 kg Tooth plate OHERS
e PT44-0613-10 6 13 0 10| 05| 05 | 125 0.007 © Material : SKH9(JIS) / S18-1-2-5(DIN) Tooth plate
/— l R3 PT240815-10 | 8 | 15 0.009 o Heat treated : HRC 60° © Material : Exteremely hard.
a { S e I TR = Ll MODELNC. A B C D E F G kg MODELNO. A B C D E F G kg Soluumn
‘ ‘ ‘ PT44-1220-12 | 12 | 20 0.017 o Material : S45C(JIS)/34CrMo4(DIN) e o 00g| [Pt o 000 Tor
; ; PT44-1423-16 | 14 0.030 Heat treated : HRC 28 °~ 32 ° MBI——{ 10| 11| 115| 65| 23 [— MB[—— 10| 11| 115| 65 | 23 | Tadiueal
23 | 16 | 15 | 1.0 | 05 | 1.50 i PT46-0620 20 0013 | | PT46-0620.K 20 0013 Data)
O \ \ PT44-1523-16 | 15 0.028 o Serrated surface to be heat treated with B e T ETT H T
- . . A A
‘ ‘ 1623- high f hing. M8 14(13[16.1| 81| 23 M8 14| 13]16.1| 8.1 | 23
; ‘ ; — PT44162316 | 16 | 23 =21 15 | 10 | 05 | 150 [2225 S'g £ reqffn;:x (:;Ienlf 0'”9 4 PT46-0830 30 0,033 | PT46-0830K 30 0,033
- ¥ ° : i
] | ‘ e - e Au ﬁcet'l IS’ M It'alc o Kk rt PHGI020) 10l 221 17| 16| 10| 114 30 [ooid] [PHEAZK Y\ oL 20 1o 16196 114 30 oot
V\L § £ PT44-1826-20 | 18 | 26 | 20 | 15 | 1.0 | 0.5 | 150 | 0.040 pplication l; Ir:urpqse w0_rt _sduprlx]: sraat0a0l M0 20 o0a0 | [Prasoord M 2o 0080
U R2 Al RN 0.0 o zamrp:mg e PHGT225| 11222 49| 20| 219] 130| 30 |20 [PHEAZ5K )\ o125 Fag | 20| 210|130 30 |20
BB10.005 PT44-2230-20 | 22 | 30 | 20 | 20 | 1.5 | 0.5 | 250 [0.050  Foatures Em“ﬁ? ff‘ Ej'_ . PT46-1250| | 50 P17 o426 | Pras-rasox 50 71 oz
— PT44-2535-20 | 25 | 35 0.070 eatures - Excellent holding power from PT46-1630 30 0.130 | | PT46-1630-K 30 0130
Praa304225 | 30 T a2 T 25 120 1 15 1 05 1250 [0.130 the serrated face. s aol B g1 24( 25 | 217|162| 30 o e W16 24 25| 277162 30 [
Oloo PT44-405530] 40 | 95 | 55 | 30 | 20 | 10 | 300 222 PT620%01 1020 1 30 | 25 | 346|252 30 |- 2220 [PEEZ0K Yol 01 | 25| 346|252 30 [
PT44-5070-30 | 50 | 70 : : : " [0.430 PT46-2060 60 214177 [0.360] | Pras-2060K 60 1 Toseo

6-27 AUX PARTS AUX PARTS ©-28



e— LEAVE INDUSTRIAL

"PT47-49
BALL ROLLERS

o Material : SUS304(JIS)

LEAVE INDUSTRIAL

SMOOTH BALL END BOLT

PT47 A
Bz0.1 B
E ¢, D3, B 9E g°
o C
N ‘ /—A [ /
2r S BPAS
\ o Material : =) /
. - - Bolt : S45C(JIS) / CK45(DIN) i TS| - - L
N Ball : SUJ2(JIS) / 100Cr6(DIN) 4[
/ / o Heat treated : BG
T Bolt : HRC 28°~32° LT
Ball : HRC 62°
o Surface finish : Black Oxide.
o Application : Precision swivel ball that can
be used either as a contact (S
bolt or as a rest pad. As MODELNO. A B c D | E|E ]
OD o B D g contact bolts, these swivel-ball (KN)
PT47-1615 | M16 | 20 | 3.3 | 16 | 24 |15.87|343(35) units are ideal for evenly Elgg_ggli ;1 12 MeA.L ;2 12 H 18 15
PT47-2018 | M20 | 25 | 53 19 30 [19.05|412(42) distributing clamping pressure PT500818 |28 |18 M8x1.25 105120471 25 38 S0
on sloped or uneven surfaces. ore071015 [ 28 M10x1.50 =
PT48 o Features : Precision ground top surface. PT50-1218 | 30 18 Mi2x1.75] 1052017} 25| 40
PT50-1627 |43 |27 | M16x2.00 | 20.0 | 30| 27| 90 | 150

PES |

D-O PT50-2035 |55 |35 | M20x2.50 | 34.5 | 50 |41 165 | 520
ﬂ C -0.1 B *Applies only when the minimum bore depth is kept to. PT
. n = A
— ‘”\A: |
| < PT51
g x \\ SMOOTH BALL END BOLT

ALY
A
oD 0 A B » g B0.1
PT48-1615 | M16 | 20 | 3.3 | 16 | 27 [15.87| 23 |343(35) = 90 0) <~
PT48-2018 | M20 | 25 | 53 | 19 | 33 [19.05] 29 |412(42) ] C VISE!
/
E /\ »
PT49 D -8 1 o Material : g _ _ TH 9 J‘J'J_".J)_\
: Bolt : S45C(JIS) / CK45(DIN) /
<—C—>| Ball : SUJ2(JIS) / 100Cr6(DIN) ,4[
Heat treated :
(%) ¢ Coltin)
\’L: . Bolt : HRC 28°~32° [T s
s a9 Ball : HRC 62° gechmical|
m — - * o Surface finish : Black Oxide. Ddltdl
o Application : Precision gwwel ball that can MODELNO. A B c b E [ Mmax ;
be used either as a contact (KN)
A A\ bolt or as a rest pad. As PT51-0613 | 21|13 | M6x1.00 | 7.2 [ 13|11 10 12
contact bolts, these swivel-ball | PT51-0813 |21 |13 | .0 (oo | 7.2 |13 11] 10| 13
units are ideal for evenly PT51-0818 |28 |18 105 [20[17] 25| 38
distributing clamping pressure | PT51-1018 28 18 mg’q?g 1051201171 25| 40
5 o . . 5 g on sloped or uneven surfaces. PT51-1218 | 30 M16X2.00
o Features : serrated gripper is ideal for PrsE A 2 X< JUw s 2] el s
PT49-2614 24 26 14 1.5 5.3 |15.87 [343(35) PT51-2035 |55 |35 | M20x2.50 | 34.5 | 50 | 41| 165 | 520

h surf .
PT49-3217 | 30 32 17 2 6.3 [19.05|412(42) rough stiriaces *Applies only when the minimum bore depth is kept to.

6-29 AUX PARTS AUX PARTS 6=30



LEAVE INDUSTRIAL

o Material :

Bolt : S45C(JIS) / CK45(DIN)

Ball : SUJ2(JIS) / 100Cr6(DIN)
o Heat treated :

Bolt : HRC 28°~32°

Ball : HRC 62°

o Surface finish : Black Oxide.

o Application : Precision swivel ball that can
be used either as a contact
bolt or as a rest pad. As
contact bolts, these swivel-ball
units are ideal for evenly
distributing clamping pressure
on sloped or uneven surfaces.

o Features : Precision ground top surface.

SMOOTH BALL END BOLT

A+0.1
D" o

[ | \\

, |
rf::: 7‘7

i B O | (—

S| [

[ )

N[ 7
—
MODELNO. A B (o] D Ky 9

PT52-0311 1 M3x0.5 7.2 12 10 8
PT52-0417 17 M4x0.7 10.5 18 25 30
PT52-0525 25 M5x0.8 20.0 28 90 80

*Applies only when the minimum bore depth is kept to.

LEAVE INDUSTRIAL

SMOOTH BALL END BOLT

SPRING LOCATING PINS

TYPEA

o Body Material : Aluminum

TYPE B

o Body Material : Aluminum

Surface finish : Silver passivated Surface finish : Silver passivated 5y
o Pin  Material : Steel o Pin  Material : Steel
Heat treated : HRC 45° Heat treated : HRC 45°
Surface finish : Galvanized Surface finish : Galvanized
o Spring Material : Spring steel wire o Spring Material : Spring steel wire BPA\
o Seal Material : CR
B F
BS
’ ) SEAL
|::> \\ [ // O +(? A
T : ] GP
NE = Y
) e = — |
Note : (o) — — !
2 P(N) : The MAX Strength |
when pin moves 7 ‘ S U
o Application temperature DA
with steel pins up to 250°C
° See P.6-34 Installtion method TYPEA TYPEB
o See P.6-34 Installtion tool (without seal) (with seal)
PT
Example : SV

m At
i 0
= (- ) A f
Zi =7 70 /A 7
——1] 1 =11 !
O,ﬂ—'
VASE
o Material : TYPEA TYPEB OTHER
i NS
Bolt : S45C(JIS) / CK45(DIN
Ball SUJZ((JIS))/ 1000 (6(DII)\I) MODELNO. A B C D F P(N) '"STT’:)%I’_‘STWN g MODELNO. A B C D F P(N) 'NSTTQ)%CSWN g
all - r
o Heat treated : PT55A-0603-010 10 06 || PT558-0603-010 10
Bolt : HRC 28°~32° PT55A-0603-020 | 6| 3| 40| 7|05| 20 | PT57-0603| 0.6 || PT55B-0603020 | 6| 3| 4| 7|05| 20| PT57-0803| 0.6 coltmn)
Ball : HRC 62° PT55A-0603-040 40 07 | [ PT558-0603-040 40 for
o Surface finish : Black Oxide PT55A-1005-020 20 27 PT55B-1005-020 20 27 Tadiel
+ Application : Precision swivel ball that can PT55A-1005-050 5| 67| 1|08 50 28 | | PT55B-1005-050 5/ 6|12 |08| 50 29
. PT55A-1005-100 100 31 PT55B-1005-100 100 31
be used either as a contact
bolt or as a rest pad. As PT55A-1006-040 | 10 40 | PT57-1006 | 34 PT55B-1006-040 | 10 40 | PT57-1006 | 34
contact bolts. these -swivel-ball PT55A-1006-075 6[107] 11 [10| 75 36 | | PT55B-1006-075 6| 10[12[10] 75 37
units are | dee’ll for even PT55A-1006-150 150 38 || PT558-1006-150 150 38
distributing clampin rZssure EEERNG A B c D & 9 PT55A-1208-050 50 68 | | PT55B-1208-050 50 70
9 ping p PT55A-1208-100 |12 | 8 |13.9| 13| 13| 100 | PT57-1208 | 7.4 || PT55B-1208100 |12 | 8| 13|14 | 13| 100 | PT57-1208 | 7.3
on sloped or uneven surfaces. PT53-0311 1 | M3x0.5 72 112110 | 8 PT55A-1208-200 200 74 || PT55B-1208-200 200 74
© Features : serrar:ed rg_jfrlpper is ideal for PT53-0417 17 M4x0.7 10.5 18 25 30 = T 50 ST ST T 50
rough surtaces. PT53-0525 | 25| M5x0.8 | 20.0 | 28 | 90 | 80 PT55A-1610200 | 16 | 10 [16.7| 17 | 1.6 200 | PT57-1610 [ 150 | | PT55B-1610-200 |16 | 10| 16|18 | 16| 200 | PT57-1610 [ 152
*Applies only when the minimum bore depth is kept to. PT55A-1610-300 300 153 | | PT55B-1610-300 300 156

6-31 AUXPARTS

AUX PARTS ©=-32



- LEAVE INDUSTRIAL ‘ .®
LEA'E

PT56

SPRING LOCATING PINS

TYPEA TYPE B DA
o Body Material : Aluminum o Body Material : Aluminum B
Surface finish : Silver passivated Surface finish : Silver passivated Embossed
o Pin Material : POM o Pin Material : POM [ ,
o Spring Material : Spring steel wire o Spring Material : Spring steel wire \ ‘
L [
» Seal Material : CR | B
: .
Il
HE
®B |F L1l 1
. : 8C
I:} \ ) o SEAL ey
A Ao 5P
\ / |
‘ ‘ ‘ - ‘ ‘ ‘ - 7 { o Material : S45C
oD\T — — ! i o Surface finish : Black Oxid
= = 7 50
o T - PT57-0603 8 | 50 3.2 6 19
®A PT57-1006 | 12 | 60 | 62 | 13 | 50
Note : PT57-1208 14 | 60| 82 | 16 | 65
@ P(N) : The MAX Strength TYPE A TYPE B PT57-1610 | 18 | 60 | 10.2 | 19 | 106 PT
when pin moves (without seal) (with seal)

o Application temperature

with plastic pins up to 80°C :
o See P.6-34 Installtion method PT58
° See P.6-34 Installtion tool

SV
ALY
TYPEA
MODEL NO. A B C D F PN INSTALLATION 4 0,
TOOLS TYEE
VASE:
PT56A-0603-010 6 3| 40| 7|05 10 PT57-0603 04
PT56A-1005-020 10 5| 67| 11| 08 20 PT57-1006 13
PT56A-1006-040 | 10 6 107 | 11| 10 40 PT57-1006 15 OIHER
PT56A-1208-050 12 8 | 139 | 13 | 1.3 50 PT57-1208 29
PT56A-1610-100 16 | 10 | 167 | 17 | 16 | 100 PT57-1610 6.6
ol
fur
JECHNICA]
TYPE B o Data)
INSTALLATION
MODEL NO. F PN
2 S b TOOLS -
4 . ] a— 4 o Material : S45C
PT56B-0603-010 6 3 05 0 57-0603 0. o Surface finish : Black Oxid
PT56B-1005-020 10 5 6 | 12 | 08 20 PT57-1006 13 MODELNO. A B cC D 49
PT56B-1006-040 10 6 | 10 | 12 | 10 40 PT57-1006 15 PT58-0612 12| 99 | 6| 2 | 55
PT56B-1208-050 12 8 | 13 | 14 | 1.3 50 PT57-1208 3.0 PT58-1016 16 1.9 110 ] 2 | 94
PT58-1218 18| 139 | 12 | 2 | 1258
PT56B-1610-100 6 | 10 | 16 | 18 | 16 | 100 PT57-1610 6.7 PT58-1625 25 | 179 | 16 | 3 | 34.0

6-33 AuxPARTS AUX PARTS 6=34



{ INSTALLATION »

B CALCULATING LOCATION FOR INSTALLATION

Based on the proposed usage of the spring

locating pins, choose the correct specifications and size,

and calculac as follows:
Installation dimension = width of workpiece + X

X: Distance from the edge of the workpiece
to the center of spring locating pin as per the drawing.

Thickness of
workpiece

Installation dimeusion

Width of workpiece X

t
’»

—

(X Reference Table )

TYPEA

without
seal

MODEL NO.

STEEL
PT55A-0603-010

PLASTIC
PT56A-0603-010

PT55A-0603-020

PT55A-0603-040

25

LEAVE INDUSTRIAL ‘ .®
LEA'E

HmX CALCULATION

There are two methods for calculating X dimension based
on the thickness of the workpiece.
(1)When thickness of workpiece <H

X=B/2-F-[(C-B/2-t)x0.123]
(2)When thickness of workpiece > H
X=B/2-F

If thickness of workpiece is greater than H, then the X
value of remains the same, regardless of the thickness
of the workpiece.

(H CALCULATION )
Formula : H = C-(B/2) ¢
B F

!
!
A

Width of workpiece (t)mm
1 2 3 4 5 6 8

0.8 1.0 1.0 1.0 1.0 1.0 1.0

PT55A-1005-020

PT56A-1005-020

PT55A-1005-050

PT55A-1005-100

42

PT55A-1006-040

PT56A-1006-040

PT55A-1006-075

PT55A-1006-150

7.7

1.7 17

PT55A-1208-050

PT56A-1208-050

PT55A-1208-100

PT55A-1208-200

9.9

PT55A-1610-100

PT56A-1610-100

PT55A-1610-200

PT55A-1610-300

1.7

TYPE B
with
seal

PT55B-0603-010

PT56B-0603-010

PT55B-0603-020

PT55B-0603-040

25

0.8 1.0 1.0 1.0 1.0 1.0 1.0

PT55B-1005-020

PT56B-1005-020

PT55B-1005-050

PT55B-1005-100

35

PT55B-1006-040

PT56B-1006-040

PT55B-1006-075

PT55B-1006-150

7.0

1.7 17

PT55B-1208-050

PT56B-1208-050

PT55B-1208-100

PT55B-1208-200

9.0

PT55B-1610-100

PT56B-1610-100

PT55B-1610-200

PT55B-1610-300

11.0

6-35 AUXPARTS

B INSTALLATION METHOD
Apple yellow grease and press it into place while installing.

LEAVE INDUSTRIAL ‘ .®
LEA'E

(Example 1) (Example 2)
PN : o PN : BP
Spring locating pin PT55B-1006-075 Sping locating pin  PT56A-1610-100
Steel pin(B type) POM (A type)
Width of workpiece 100mm Width of workpiece 300mm
Thickness of workpiece 2.3mm Thickness of workpiece ~ 40mm BPA
( Caculation of H) ( Caculation of H)
Comparison of thickness of workpiece and H size. Comparison of thickness of workpiece and H size.
H=C-B2=10-62=7(mm) H=C-B/2=16.7-10/2 = 11.7 (mm) BC
Because the thickness of the workpiece is bigger Because the thickness of the workpiece is bigger
than H, use the second caculation method. than H. use the second caculation method.
( Caculation of X) (c lati £X)
aculation o
X =B/2-F-[(C-B/2-t)x0.123] N oB/2-F o
=6/2-1-[(10-6/2-2.3)x0.123] -10/2-1.6
=3-1-[(4.7)x0.123] _3 4(mr.n)
=1.4 (mm) ' SU
I llation L . lati ( Caculation of Installation Location )
(Installation Location caculating ) Installation Location = Width of workpiece
Installation location = Width of workpiece + X =300+3.4
=100+1.4 _ ' PT
=303.4 (mm)
=101.4 (mm)
SVE
9B F
. - ALY
O
I /
) OK=
I/\L'/\I o
OUHER
Installation dimension
column;
300mm . X fw‘
Installation dimension ’ ;ﬂ“ﬂw
e 100mm E
5 —— '7 = —— r'7
~ | | [ /
! | ‘
| |

AUX PARTS ©=-36




LEAVE INDUSTRIAL

5 LEAVE INDUSTRIAL

‘ () o
I
F7
| oA
‘ Ze EP
| A
= | %
H = S5
‘ (&)
‘ \ B A
! T
‘ g\ i / U ¢BnS |
I
| B
MODEL NO. A B (of D E R T
@ PT59-0615-10 6 12 10 15 3 1.5 0.01
PT59-0818-12 8 15 - 18 ] 20 067
PT59-1022-12 10 18 22 4 . . 0"
! [ / <:| o Material : SUJ2 PT59-1226-16 12 g
| / / o Surface finish : HRC 60° Prsotazets | 1a | 2 | | ® 4 | 20 | 001
‘ PT59-1530-16 15
[ ET50M63056 16 26 16 30 4 20 | o.01
| PT50-1834-20 | 18 .
PT59-2034-20 20 30 20 34 5 30 0.01 =) U
PT59-2239-20 22
. ™ . . 25 35 20 39 5] 3.0 0.01
{ Compared with traditional method,simple design can lower cost ) PT59-2539-20
PT59-3052-25 30 48 25 52 0.01
PT59-4059.30 | 40 | 55 | 30 59 5| 30 :
PT59-5074-30 50 70 30 74 6 15| 0.01 PT
B Application:

— 0 — Q ALY
| j | \

| f ‘ ”,) OIHER

Coltu)
for
Tadildal
Datad|

6-37 AUXPARTS AUX PARTS 6-38



ENE

AUX PARTS
AUX PARTS




	頁面 1
	頁面 2
	頁面 3
	頁面 4
	頁面 5
	頁面 6
	頁面 7
	頁面 8
	頁面 9
	頁面 10
	頁面 11
	頁面 12
	頁面 13
	頁面 14
	頁面 15
	頁面 16
	頁面 17
	頁面 18
	頁面 19
	頁面 20
	頁面 21

